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Math 9 Enriched Section 2.6 Rationalizing Radicals

1. Multiply each of the following radicals with its conjugate
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2. Rationalize each of the following expressions:
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4. The area of an equilateral triangle is 9\6 cm’. What is the number of cm in a side of the triangle?
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6. The height and base of a right triangle is 6cm and 11cm respectively. What is the length of the altitude of the

triangle from the right-angle to the hypotenuse? Express your answer as a radical in simplest form:
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7. What is the length of the altitude of a right-isosceles triangle from the right-angle to the hypotenuse?
Express your answer as a radical and ratio to the side length (height or base) of the right triangle.

8. For how many real values of x is /120 — \/; an integer?
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9. Inrectangle ABCD, AD=1, P ison AB,and DB and DP trisect ZADC . What is the peri 7
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10. An equilateral triangle has side length 6. Wheh is the area of the region containing all points that are outside
the triangle and not more than 3 units from a point of the triangle?
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11. Around table has radius 4. Six rectangular pla/ce mats are placed on the table. Each place mat has width 1

and length x as shown. They are positioned so that each mat has two corners on the edge of the table, these
two corners being end points of the same side of length x . Further, the mats are positioned so that the inner
corners each touch an inner corner of an adjacent mat. What is x ?
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12. Acircle of radius 2 is centered at (). Square OABC has side length 1. Sides AB and (B are extended past
B to meet the circle at 1D and I, respectively. What is the area of the shaded region in the figure, which is

bounded by E, ﬁ, and the minor arc connecting 1D and £ ?
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13. Acirlce of radius 1 is surrounded by 4 circles of radius » as shown. What is r ?
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14. Which of the following is equivalent to when x <0 ?
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15. Find the sum of the expression without a calculator:
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16. Circles centered at A and B each have radius 2, as shown. Point O is the midpoint of E, and 04 = 2\5.

segments OC and OD are tangent to the circles centered at 4 and B, respectively, and LI is a common
tangent. What is the area of the shaded region KCODF?
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17. Four circles of radius 1 are tangent to two sides of a square and externally tangent to a circle of radius 2, as
shown. What is the area of the square?
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